11

OA

OA
3.2
3.3
1 2
V. 140km/h

10km/h V  60km/h
LWA:A+1OICg10V l
Lwa A B

A
40km/h 'V 140km/h

LWA: B+30|®10V 2

B

LWA,i =Lt Lt LA_weight i

L1 i A
WA A [dB]
L; i
LA,weight.i i A
Ladj A

+

1

Lg (3)

[dB]
[dB]
0

[dB1



E A B
v A
100 zz — [

o 2 4 6 8 10 12 14 16 18 20

4 2 0A ( )

- 7\ —

_qc:\ 70 4

60 —5

—6

50 l— JE——

4.1 Casel o ﬁ,__ s @ —
30 10

o 2 4 6 8 10 12 14 16 18 20

5 3 0A ( )
60km/h 2
50km/h 2

10

1 0.7

0.2
' 4-

3 6 B

= 50km/h 2
60km/h <= 1] .I 3

§ [=] 1 2 o 2 &) 3
>< 6 I-A(-zq

29m  67m 3 5 OA

22m  32m

12m  13m 30m

36m  4.0m

20dB

90 4
80 —2

3 Casel

N )/“ﬁ/” % —
50 |—=4 <% e
0 z&*—i’g’:‘:fy —s 7 9 Case2

30 10

— Case4d

20

(o] 2 4 6 8 10 12 14 16 18 20

3 1 0A ( )



4.2 Case2 60km/h

= 50km/h
10 12

60km/h €— ] .[

29m  6.7m
55m  3.2m
12m  21m 5
21m
7 HH FH 3
4.3 Case3 12-0 -8 -6 -4 -2 0 2 4 6 8 1.0 13°
60km/h= | C 1 = a0kmit
) 10
I
Som dom [ [ |
1.9m  3.5m Y
3.0m 33m
25m  4.6m
16m
8
4.4 Case4d T
=P 50km/h 1
60km/h <= I:l 'I -12-10 8 -6 -4 -2 0 2 4 6 8 10 1
29m  105m 11
70m  191m
15m  3.0m
40m  3.4m
14.1m
9
Case2 4

4.5 Leq 10 12



5.
5.1 Casel
13 123
30
13
14 17
3
> > 53m  90m
35m  175m
50m 9.0m
3.0m 180m
9.0m
13

()
E——]
14 1 0A ( )

90

il

Hiat

30
0 50 100 150 200 250 300
()
= — — ]
15 2 OA ( )
90
o . |
o
=70
60
50 o :‘er i
10
30
0 50 100 150 200 250 300
)
E—1
16 3 0A ( )
3
2
. 13
o
0 ———
o1 -0.6 )
-2
-3
[@ 1 2 o 2 5] 3
17 Lyeq
14 17 OA



100
1
30 5
18, 19
70
60
50
40
30
20
10 ‘Fj
o n I
-15 -1 -0.5 0 05 1 1.5
(dB)
[= [F] ] 2]
18 PWL Laeq 30
70
60
50
40
30
20
10 0 n
0 ._,mh!LhLII III.l. n
-15 -1 -0.5 0 05 1 15
(8)
B = 1 2]
19 PWL Laeq 5
18, 19
30
Case2,Case3
5.2 Case?
20

30

9.0m 2.0m
135m  50m
300m  60m
160m  25m
— Vi' — 140m  13.0m
20
5.3 Case3
21 1,23 Casel
30
9.0m 2.0m
230m  15.0m
110m  29.0m
5.0m 16.0m
p NN 16.0m 13.5m
= ™\ 4.5m 7.0m
‘* 20.0m
21
Case2,3
6dB
Case
6.



100
22

70

60

50

40

30

:HTHWL

dB

22

1dB

55

“ASJModel 1998~

30



